SiEMA RERSTEIERRE (TEE) SHIE1RA1B~18318
BT 4 Gy/h= u Sv/h(I1989° L4/ =34909—~" b/ BERE)
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1R180K) 156% 0.04 0.04 SHEE R HEEH 0.04 0.05 0.03 0.04 0.04 SHEE R
1A28(K) 158 0.04 0.04 eh =eh 0.04 0.05 0.03 0.04 0.04 St
1A3AE) 156% 0.04 0.04 SHEE HEE 0.04 0.06 0.03 0.04 0.04 SHEE R
1A48(L) 158 0.04 0.04 eh =eh 0.04 0.05 0.03 0.04 0.04 St
1A58(8) 156% 0.04 0.04 SHEE HEEH 0.04 0.05 0.03 0.04 0.04 SHEE R
1A6RA) 158 0.05 0.04 eh 0.06 0.04 0.06 0.03 0.04 0.04 HEh
1A7TECK) 158% 0.04 0.04 F%ch 0.05 F%ch 0.06 0.03 0.04 0.04 0.06
1A8B(K) 158 0.04 0.04 eh 0.05 =eh 0.06 0.04 0.04 0.04 0.06
1A9B(K) 158% 0.05 0.05 A 0.06 A 0.06 0.03 0.04 0.05 0.06
1A10B(£) | 158 0.05 0.05 eh 0.05 =eh =eh 0.04 St 0.05 0.04
1A11BE((L) 156% 0.03 0.03 SHEE 0.03 SHEE R SHEE R 0.02 SHEE R 0.03 0.03
1A128(R) | 158% 0.03 0.03 FARH 0.03 =eh =eh 0.02 =eh 0.03 0.03
1B138(A) 156% 0.03 0.03 SHEE R 0.04 SHEE R SHEE R 0.02 SHEE R 0.03 0.03
1A148(0) | 158% 0.05 0.05 eh 0.06 =eh =eh 0.04 St 0.05 0.04
1B1580K) 156% 0.03 0.03 Bikdes 0.04 SHEE R SHEE 0.03 SHEE R 0.03 0.03
1A16ACK) | 158% 0.03 0.03 0.02 0.04 0.04 0.04 0.02 0.03 0.03 0.03




SiEMA RERSTEIERRE (TEE) SHIE1RA1B~18318
BT 4 Gy/h= u Sv/h(I1989° L4/ =34909—~" b/ BERE)
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HRRUER $998km $995km $992km #3101km $996km $9102km $989%km $997km $997km $9105km
1HA178(%) 150% 0.03 0.03 0.02 0.04 0.03 0.04 0.02 0.03 0.03 0.03
1H188(L) 158 0.03 0.03 0.02 0.04 0.04 0.04 0.02 0.03 0.03 0.03
1B19H(H) 150% 0.03 0.03 0.02 0.04 0.04 0.04 0.02 0.03 0.03 0.03
18208(A) 150% 0.03 0.03 0.03 0.04 0.04 0.04 0.02 0.03 0.03 0.03
1H21BCN) 158% 0.03 0.03 0.03 0.04 0.04 0.05 0.02 0.03 0.03 0.03
182280K) 158 0.03 0.03 0.03 0.04 0.04 0.04 0.02 0.03 0.03 0.03
1H238(K) 158% 0.03 0.03 0.03 0.04 0.04 0.05 0.02 0.03 0.03 0.03
1R248(%) 158 0.03 0.03 0.03 0.04 0.04 0.05 0.02 0.03 0.04 0.03
1H25H(%) 158% 0.03 0.03 0.03 0.04 0.04 0.05 0.02 0.03 0.04 0.03
1826H(BH) 158 0.03 0.03 0.03 0.04 0.04 0.05 0.02 0.03 0.04 0.03
18278(A) 158% 0.03 0.03 0.03 0.04 0.04 0.05 0.02 0.04 0.04 0.03
1H288(A) 150% 0.03 0.03 0.03 0.05 0.05 0.05 0.03 0.04 0.04 0.03
1H298(K) 158% 0.07 0.08 0.07 0.08 0.07 0.09 0.06 0.07 0.07 0.07
1H308(K) 150% 0.04 0.04 0.04 0.05 0.05 0.05 0.03 0.04 0.04 0.04
1A318(%) 1505 0.03 0.03 0.02 0.04 0.03 0.04 0.02 0.03 0.03 0.03
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BT 4 Gy/h= u Sv/h(I1989° L4/ =34909—~" b/ BERE)
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R R U aR #998km #9102km #107km #117km #107km #101km #799km #987km #991km #9123km
1A180K) 158% 0.04 0.05 0.05 FREEh 0.03 FREEh 0.04 0.02 SRt FRE
1828(K) 150 0.04 0.05 0.05 At 0.03 SRt 0.05 0.02 SRt SRt
1A38(%) 158% 0.04 0.05 0.05 FREEh 0.03 FREEh 0.05 0.02 SRt RE G
1H48(1) 150 0.04 0.05 0.05 SRt 0.04 SRt 0.05 0.03 SRt HaEagss
1A58(R) 158% 0.04 0.05 0.05 FREEh 0.03 FREEh 0.05 0.02 SRt FRE
1868(A) 150 0.04 0.05 0.06 At 0.03 SR 0.05 0.02 SR HaEagss
1878() 158% 0.05 0.05 0.06 0.04 0.03 FREEh 0.05 0.03 SRt RE
1H8B(K) 150 0.04 0.05 0.05 0.04 0.03 SRt 0.04 0.03 0.02 SRt
1A98(K) 158% 0.04 0.05 0.06 0.04 SRt FRE 0.05 0.03 0.03 FREEh
1H10B8(%) 150%F 0.04 0.05 0.05 0.03 SR SR SRt 0.03 0.03 SRt
1A11AL) 158% 0.03 0.03 0.03 0.02 SRt FREEh RE 0.02 0.02 RE G
1H128(8) 150 0.03 0.03 0.03 0.02 SRt A SRt 0.02 0.02 SRt
18138(A) 158% 0.03 0.03 0.03 0.02 BREages FRE RE G 0.02 0.02 RE G
181480K) 150%F 0.04 0.04 0.05 0.03 SR A SRt 0.02 0.02 SRt
18158 0K) 158% 0.03 0.03 0.03 0.02 SRt FRE RE G 0.02 0.02 RE G
1816B(K) 150 0.03 0.03 0.03 0.02 SRt SRt SRt 0.02 0.02 SRt




SiEMA RERSTEIERRE (TEE) SHIE1RA1B~18318
BT 4 Gy/h= u Sv/h(I1989° L4/ =34909—~" b/ BERE)
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1B178(#) 156% 0.03 0.03 0.02 0.02 0.02 SHEE Bk SHEEH 0.02 FHEEH

1A188(1) | 158 0.03 0.03 0.03 0.02 0.02 =eh =eh =eh 0.02 0.03
1R198(H) 156% 0.03 0.03 0.03 0.02 0.02 FHEE Bk SHEE R SHEEH 0.04
1A208(R) | 158% 0.03 0.03 =eh 0.02 0.02 =eh =eh =eh =eh 0.04
1R218 () 156% 0.03 0.03 SHEE R 0.02 0.02 SHEE R SHEE R SHEEH SHEEH 0.04
1H2280K) | 158 0.03 0.03 =eh =eh 0.02 =eh 0.03 =eh =eh 0.04
1B238(K) 156% 0.03 0.03 HEEH FEEH 0.02 SHEE R 0.03 0.02 SHEE R 0.04
1R248(%) 1565 FHEE 0.03 SRR SHEEh 0.02 SR 0.03 0.02 SR 0.04
1B258(1) 158§ SHEEH 0.03 SHEE R HEE R 0.02 Bkl 0.03 0.02 SHEE R 0.04
1A26H(H) 1565 FHEE 0.04 SRR SHEEh 0.02 SHEEh 0.03 0.02 SR 0.04
1B278(A) 158F SHEEH 0.04 SHEE R HEE R 0.02 Bkl 0.03 0.02 SHEE R 0.04
1H28H () 1565 FHEE 0.04 SRR SHEEh 0.02 SHEEh 0.04 0.02 SR 0.05
18298 (K) 158F SHEEH 0.08 SHEE R HEEh 0.05 HEE R 0.06 0.05 SHEE R 0.06
1H30H(K) 1565 FHEE 0.04 SRR SHEEh 0.03 SHEEh 0.04 0.03 0.02 0.05
1A318(#) 156% 0.03 0.03 HEE FEEH 0.02 Bkl 0.03 0.02 0.02 0.04
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SiEMA RERSTEIERRE (TEE) SHIE1RA1B~18318
BT 4 Gy/h= u Sv/h(I1989° L4/ =34909—~" b/ BERE)
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RBEE—FERMD [ii] i i i [ i A [ii] [ii] iz vic]
H R U R #9123km #393km #382km #387km #384km #974km #378km $377km #379km
1B1B0K) 158 0.05 0.04 0.03 0.04 0.04 HEE R Bkl FEEH 0.03
1A28(K) 158F 0.05 0.04 0.04 0.04 0.05 it it it it
1A3A®E) 158 0.05 0.04 0.04 HEE R 0.04 HEE R Bkl Bkl R
1R4B(1) 158F 0.05 0.04 0.03 it 0.04 it it it it
1A58(8) 158 0.05 0.04 0.04 HEE R 0.04 HEE R Bkl Bkl FEEH
1A6EA) 156F 0.05 0.04 0.04 FEH 0.04 FEH FEH FEH FEH
1ATHC) 158 0.05 0.04 0.04 HEE R 0.04 Bkl HEE R HEE R FEEH
1A8EGK) 156F 0.05 0.04 0.04 FEH 0.05 FEH FEH S FEH
1A9R(K) 1584 0.06 0.04 0.04 0.04 0.04 0.03 0.04 0.05 0.03
1H10B(#) | 158 0.05 Bifdesl 0.04 0.04 0.04 0.04 0.03 0.03 0.03
1ANBAL) | 158 0.03 Az 0.02 0.02 0.03 0.02 0.02 0.02 0.02
18128(R) | 158 0.03 Bifdesl 0.02 0.02 0.03 0.02 0.02 0.02 0.02
18138(A) 158 0.03 HEE R HEE R 0.02 0.03 0.02 0.02 0.02 0.02
1A14B0K) | 158% 0.05 Bifdesl Bifdes] 0.03 0.05 0.03 0.04 0.04 0.03
18158 0K) 158 0.04 Bkl HEE R 0.03 0.03 0.02 0.02 0.03 0.03
1A16B(CK) | 158% 0.03 Bifdesl Bifdes] 0.02 0.02 0.02 it 0.02 0.02




SiEMA RERSTEIERRE (TEE) SHIE1RA1B~18318
BT 4 Gy/h= u Sv/h(I1989° L4/ =34909—~" b/ BERE)
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RBEE—FERMD [ii] i i i [ i A [ii] [ii] iz vic]
H R U R #9123km #393km #382km #387km #984km #974km #978km #377km #379km
18178(%®) 158 0.03 HEE R HEE R 0.02 0.02 0.02 Bkl 0.02 0.02
1H18B(1) | 158F 0.03 Bifdes Bifdes 0.02 0.02 0.02 it 0.02 0.02
1A198(R) | 158% 0.03 0.02 s 0.02 0.02 0.02 Az 0.02 0.02
1A208(A) | 158% 0.03 0.02 Bifdes] 0.02 0.02 0.02 it 0.02 0.02
1A2180K) | 158F 0.03 0.02 s 0.02 0.03 0.02 s 0.02 0.02
1H22B0K) | 158F 0.03 0.02 0.02 0.02 0.03 Bofdes] 0.02 0.02 0.02
1A23A(K) | 158% 0.03 0.02 0.02 0.02 0.03 S 0.02 0.03 0.02
1H24B(£) | 158F 0.03 0.02 0.02 0.02 0.03 Bofdes] 0.02 0.03 0.02
1A258(1) | 158% 0.04 0.02 0.02 0.02 0.03 Az 0.02 0.03 0.02
1H26B(R) | 158 0.04 0.02 0.02 0.02 0.03 Bofdes] 0.02 0.03 0.02
1A278(RA) | 158% 0.03 0.02 0.02 0.02 0.03 Az 0.02 0.03 0.02
1A28A(K) | 15BF 0.04 0.02 0.03 0.03 0.03 AR 0.02 0.03 0.03
1A298(GK) | 158% 0.07 0.06 0.06 0.06 0.07 Az 0.06 0.06 0.05
1A30BCK) | 158% 0.04 0.03 0.03 0.03 0.03 Bofdes 0.03 0.03 0.03
1A3IA(#®) | 158F 0.04 0.02 0.02 0.02 0.02 Az 0.02 0.02 0.02




SiEMA RERSTEIERRE (TEE) SHIE1RA1B~18318
BT 4 Gy/h= u Sv/h(I1989° L4/ =34909—~" b/ BERE)
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H R U R #979%m #381km #3109km #3108km #3102km #3118km #3116km $9124km #3122km
1A180K) 1584 0.03 0.03 0.04 0.05 0.05 0.03 0.03 0.02 0.05
1A28(K) 158F 0.03 0.03 0.04 0.05 0.05 0.03 0.03 0.03 0.05
1A3A#) 1584 0.03 0.03 0.04 0.05 0.05 0.03 0.03 0.02 0.05
1R4B(1) 158F 0.03 0.03 0.05 0.05 0.05 0.03 0.03 0.02 0.06
1A58(A) 1584 0.03 0.03 0.05 0.05 0.05 0.03 0.03 0.02 0.06
1A6R(A) 158F 0.03 0.03 Bofdes 0.05 0.05 0.03 0.03 0.02 0.06
1A7R) 1584 0.03 0.03 AR 0.05 0.06 0.03 0.03 0.02 0.06
1H8R(K) 158F 0.03 0.03 Bofdes 0.05 0.05 0.04 0.03 0.03 0.06
1A9R(K) 1584 0.03 0.03 Az 0.05 0.06 0.04 0.04 0.02 0.06
1R108(%) 158% D FEEH D 0.05 B 0.03 0.03 0.02 0.05
1A118(1) 158F R EEH HEE R 0.03 HEE R 0.02 0.02 0.02 0.05
1A128(A) | 158F Bifdes Bifdes] Bofdes 0.03 AR 0.03 0.02 0.02 0.05
18138(A) 158F FEEH EEH HEE R 0.03 HEE R 0.03 0.02 HEE R 0.05
1A148(K) 156F HEEh HEEh HEEh 0.06 HEEh 0.03 0.04 HEEh 0.06
18158 0K) 158F FEEH EEH HEE R 0.03 HEE R 0.03 0.03 Pz SHEEH
1A16B(CK) | 158% FEH FEH FEH 0.03 0.03 FEH 0.02 FEH HAEH




SiEMA RERSTEIERRE (TEE) SHIE1RA1B~18318
BT 4 Gy/h= u Sv/h(I1989° L4/ =34909—~" b/ BERE)

wrnn | mmea| Een | Ean }gﬁ?{ SERIE | miras z%gii *%;%g;égf MAREF | =BETRS
e RET BEAE | SIFIRTE | RIFIRTE e INES) HEET HEET = EHy = EHy
Ei%&gﬁ?ﬁ e E?&En ng En ﬁ'@’JIE}km ﬁ'@’ﬂIE%km ﬁ'@’JIEkm ,fﬁmrﬁ;km ,fﬁmﬁkm ,%’JIElkm ﬁ'@’JIEkm
18178(%®) 158F FEEH FEEH HEEh 0.03 0.03 HEE R 0.02 Pz SHEEH
1A18E(L) | 158% FEEH FEH FEH 0.03 0.03 FEH 0.02 FEH HAEH
18198(8) 158F FEEH FEEH HEEh 0.03 0.04 HEE R 0.02 Pz SHEEH
1A208(R) | 158% FEEH FEH FEH 0.03 0.04 FEH 0.02 FEH HAEH
1A218(K) 158F FEEH EEH HEE R 0.03 0.04 HEE R 0.02 Pz SHEEH
1A22B80GK) | 158% 0.02 0.02 it 0.03 0.04 it 0.02 it St
18238(K) 158 0.02 0.02 HEE R 0.03 0.04 HEE R 0.02 Pz SHEEH
1H24B(£) | 158F 0.02 0.02 it 0.03 0.04 it 0.02 it St
18258(%) 158 0.02 0.02 HEEh 0.04 0.04 HEE R 0.02 Pz SHEEH
1H26B(R) | 158 0.02 0.02 it 0.04 0.04 it 0.02 it St
18278(A) 158 0.02 0.02 HEEh 0.04 0.04 HEEh 0.02 Pz SHEEH
1A28B0K) | 158% 0.02 0.02 it 0.04 0.04 0.03 0.02 0.02 0.06
1A298(GK) | 158% 0.05 0.05 S 0.07 0.09 0.06 0.06 0.05 0.08
1A30B(K) | 158% 0.02 0.02 it 0.05 0.05 0.03 0.03 0.02 0.05
1A31B(R) | 158% 0.02 0.02 S 0.04 0.04 0.02 0.02 0.02 0.05




SiEMA RERSTEIERRE (TEE) SHIE1RA1B~18318
BT 4 Gy/h= u Sv/h(I1989° L4/ =34909—~" b/ BERE)

s | BIWETEZR i | EESEE | XREEBE | im s el
S KNEFEE | RIUATRE | g o | BONES ZK;E’%B?% 2&?—% W | BRARE ﬁé&é?%
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Ei%&ggﬁ%@ ,fnmrikm %QJIEkm ,fnmg)km %QJI?%km ,fﬁmfﬁ km ,fnm?%km fﬁ’gE km ﬁ':’~]1gkm %QJIEBkm
1A180K) 1584 0.02 0.03 s 0.03 Az 0.03 0.04 s 0.05
1A28(K) 158F 0.03 0.04 Bofdes] 0.03 Bifdes 0.04 0.04 Bifdes 0.05
1A3A#) 1584 0.02 0.03 s 0.03 A 0.04 0.04 s 0.05
1A48(L) 158F 0.02 0.03 Bofdes] 0.03 Bifdes 0.04 0.04 Bifdes 0.05
1A58(8) 158F R 0.03 HEE R 0.03 Bkl 0.04 0.05 HEE R 0.05
1A6H(A) 156F D 0.04 SHEEh 0.03 SHEEh 0.04 0.05 B 0.05
1A7R) 158% AEH 0.04 s 0.03 0.06 0.04 0.05 0.03 0.05
1H8B(K) 156% HEEh 0.04 SHEE 0.04 0.06 0.04 0.05 0.04 0.06
1A9H(XK) 158F R EEH HEEh 0.03 0.07 0.05 0.05 0.04 0.05
1R108(%) 158% D D D 0.03 0.06 0.05 0.05 0.03 0.06
1TANAEGED) 158F HEE R EEH FEEH HEE R 0.05 0.03 0.04 0.02 0.03
1A128(A) | 158F Bifdesl Bofdes Bofdes Bifdes] 0.05 0.03 0.04 0.03 0.03
18138(A) 158F Bkl EEH FEEH Bkl 0.05 0.03 0.04 0.02 0.03
1A14B0K) | 158% AR ARG Bofdes Bifdes] 0.07 0.05 0.05 0.03 0.05
1R1580K) 158F HEE R EEH EEH Bkl 0.06 0.04 0.04 0.03 0.04
1A16B(CK) | 158% AR ARG Bofdes] Bofdes] 0.05 0.03 0.04 0.02 0.04




SiEMA RERSTEIERRE (TEE) SHIE1RA1B~18318
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s | BIWETEZR i | EESEE | XREEBE | im s el
N — KNEFEE | RIUATRE | g o | BONES z:;%?% zﬁ;ﬁ% Ay | BRARE %ﬁ%?%
£ 1LAET £ LAET £ LA RAF0F RIFXER | RIFXER | RFEXER | [EXER | XFXERE

RBEE—FERMD [ii] [ii] [ii] [ii] [ii] i i [ [

718 R U BE B #9142km #3132km #3130km #3125km #3101km #3105km #3101km #3107km #3106km
18178(%®) 158 0.02 0.02 Pz HEE R 0.05 0.03 0.03 0.02 0.03
1H18B(1) | 158F 0.02 0.03 0.02 ARG 0.05 0.03 0.04 0.02 0.03
1A198(R) | 158% 0.02 0.03 0.02 HEE=L 0.06 S 0.04 0.02 0.04
1A208(A) | 158% 0.02 0.03 0.02 it 0.06 it 0.04 0.02 0.04
1A2180K) | 158F 0.02 0.03 0.02 HEE=L 0.06 S 0.04 0.02 0.04
1A22B80GK) | 158% 0.02 0.03 0.02 it 0.06 it 0.04 it 0.04
1A23A(K) | 158% 0.02 0.03 0.02 RS 0.06 RS 0.04 AR 0.04
1H24B(£) | 158F 0.02 0.03 0.02 it 0.06 it 0.04 it 0.04
1A258(1) | 158% 0.02 0.03 0.02 HEE=L 0.06 S 0.04 HAEh 0.05
1H26B(R) | 158 0.02 0.03 0.02 it 0.06 it 0.04 it 0.05
1A278(RA) | 158% 0.02 0.03 0.02 HEE=L 0.06 S 0.04 S 0.05
1A28A(K) | 15BF 0.03 0.04 0.02 0.03 0.06 AR 0.05 it 0.05
1A298(GK) | 158% 0.05 0.06 0.04 0.06 0.09 0.08 0.07 0.06 0.09
1A30B(K) | 158% 0.02 0.03 0.02 0.02 0.06 0.04 0.04 0.03 0.05
1A31B(R) | 158% 0.02 0.02 0.02 0.02 0.05 0.03 0.03 0.02 0.04




